

Bol. Soc. Paran. Mat. ©SPM -ISSN-2175-1188 ON LINE SPM: www.spm.uem.br/bspm (3s.) **v. 2024 (42)** : 1–5. ISSN-0037-8712 IN PRESS doi:10.5269/bspm.63761

A Fixed Point Theorem for Weak (ψ - ϕ)-Jaggi Type Contraction

Pankaj and Manoj Kumar

ABSTRACT: In this paper, we introduce the weak $(\psi - \phi)$ -Jaggi type contraction. The existence and uniqueness of fixed point for such contraction is investigated. It is very helpful in extending the existing results of corresponding literature. In addition, we also provide an example in support of our theorem.

Key Words: Fixed point, Jaggi type hybrid contraction, weak $(\psi - \phi)$ -Jaggi type contraction.

Contents

1 Introduction

2 Main Results

1 2

1. Introduction

Fixed point theory simply deals with solution of the equation f(x) = x where f is a self-map on a non-empty set X. The fixed point problem first appeared in the solution of an initial value problem. Then Liouville [9] in 1837 and Picard [11] in 1890 solved the problem using successive approximation method and which also provided the solution of the fixed point equation. Before 1922, there was no any direct method to evaluate the fixed point of a map. Then in 1922, Banach [3] was the first who introduced the contraction principle to evaluate the fixed point. Metric fixed point theory has been investigated by many researchers as it is the natural and strong connection of the theoretical results in non-linear functional analysis with applied sciences. Later a lot of generalization of Banach contraction principle was done by weakening its hypothesis. In 1969, Boyd and Wong [4] have attempted to generalize Banach contraction principle by replacing the Lipschitz constant by some real valued function whose value is less than 1. Later in 1969, Meir and Keeler [10] have generalized Banach contraction principle for the case of weakly uniformly strict contraction. In 1977, Jaggi [7] first time introduced the rational expression for contraction and proved the fixed point theorem for such contraction. In 2001, Rhoades ([12]-[13]) has shown that the result of Alber and Guerre [2] for Hilbert spaces is also valid in complete metric spaces. Then in 2006, Abbas and Beg [1] proved the fixed point theorems for mappings which satisfy a generalized weak contractive conditions. Then in 2008, Choudhary and Dutta (5-6) motivated from Rhoades, Abbas and Beg showed the existence of unique fixed point in complete metric space for weakly contractive mappings. In 2009, Zhang and Song [14] proved fixed point theorems for weak ϕ -contraction. In 2019, Karapinar and Fulga [8] introduced the new notion of Jaggi type hybrid contraction as follows: A self-mapping T on (X, d) is called a Jaggi type hybrid contraction if

$$(d(Tx, Ty)) \le \psi(\mathfrak{J}_s^T(x, y)),$$

for all distinct $x, y \in X$ where $s \ge 0$ and $\alpha_i \ge 0$ for i = 1, 2 such that $\alpha_1 + \alpha_2 = 1$ and

$$\mathfrak{J}_{s}^{T}(x,y) = \begin{cases} [\alpha_{1}(\frac{d(x,Tx)d(y,Ty)}{d(x,y)})^{s} + \alpha_{2}(d(x,y))^{s}]^{\frac{1}{s}}, & \text{if } s > 0\\ (d(x,Tx))^{\alpha_{1}}(d(y,Ty))^{\alpha_{2}}, & \text{if } s = 0. \end{cases}$$

If x and y are different elements in X and $x, y \notin F_T(X)$ where

$$F_T(X) = \{x \in X : Tx = x\}$$

²⁰¹⁰ Mathematics Subject Classification: 47H10, 54H25.

Submitted May 28, 2022. Published October 23, 2022

PANKAJ AND M. KUMAR

2. Main Results

In this paper, after getting motivation from Karapinar and Fulga [8], we will introduce weak $(\psi - \phi)$ -Jaggi type contraction and show the existence of unique fixed point for a self-map T on a complete metric space (X, d). We also provide an example to show the validity of our main result.

Definition 2.1. A self-mapping T on (X, d) is called a weak $(\psi - \phi)$ -Jaggi type hybrid contraction if

$$\psi(d(Tx,Ty)) \le \psi(\mathfrak{J}_s^T(x,y)) - \phi(\mathfrak{J}_s^T(x,y)), \qquad (2.1)$$

for all distinct $x, y \in X$ where $s \ge 0$ and $\alpha_i \ge 0$ for i = 1, 2 such that $\alpha_1 + \alpha_2 = 1$ and

$$\mathfrak{J}_{s}^{T}(x,y) = \begin{cases} [\alpha_{1}(\frac{d(x,Tx)d(y,Ty)}{d(x,y)})^{s} + \alpha_{2}(d(x,y))^{s}]^{\frac{1}{s}}, & \text{if } s > 0\\ (d(x,Tx))^{\alpha_{1}}(d(y,Ty))^{\alpha_{2}}, & \text{if } s = 0. \end{cases}$$

If x and y are different elements in X and $x, y \notin F_T(X)$ where

$$F_T(X) = \{ x \in X : Tx = x \}.$$

and $\psi, \phi: [0, \infty) \to [0, \infty)$ both are continuous and non-decreasing functions with $\phi(t) = 0 = \psi(t)$ if and only if t = 0.

Theorem 2.2. Let (X, d) be a complete metric space and T be a continuous self map on X satisfying equation (2.1). Then T has a unique fixed point.

Proof: Let x_0 be an arbitrary element of X. Consider an iterative sequence $\{x_n\}$, where $x_n = Tx_{n-1}$ and $Tx_0 = x_1$.

Now, $d(x_n, x_{n+1}) > 0$ for all $n \in \mathbb{N}$. Because if for some $k \in \mathbb{N}$, $d(x_k, x_{k+1}) = 0$ then $x_k = x_{k+1} = Tx_k$, this implies x_k is the fixed point of T.

We will prove the theorem by examining two different cases: s > 0 and s = 0.

Case (i). When s > 0, putting $x = x_{n-1}$ and $y = Tx_{n-1}$ in the equation (2.1), we get

$$\psi(d(Tx_{n-1}, Tx_n)) \le \psi(\mathfrak{J}_s^T(x_{n-1}, x_n)) - \phi(\mathfrak{J}_s^T(x_{n-1}, x_n)),$$
(2.2)

where

$$\begin{aligned} \mathfrak{J}_{s}^{T}(x_{n-1}, x_{n}) &= \left[\alpha_{1}\left(\frac{d(x_{n-1}, Tx_{n-1})d(x_{n}, Tx_{n})}{d(x_{n-1}, x_{n})}\right)^{s} + \alpha_{2}(d(x_{n-1}, x_{n}))^{s}\right]^{\frac{1}{s}}, \\ &= \left[\alpha_{1}(d(x_{n}, x_{n+1})^{s} + \alpha_{2}(d(x_{n-1}, x_{n}))^{s}\right]^{\frac{1}{s}}. \end{aligned}$$
(2.3)

Therefore equation (2.2) becomes

$$\psi(d(Tx_{n-1}, Tx_n)) \leq \psi([\alpha_1(d(x_n, x_{n+1}))^s + \alpha_2(d(x_{n-1}, x_n))^s]^{\frac{1}{s}}) - \phi([\alpha_1(d(x_n, x_{n+1})^s + \alpha_2(d(x_{n-1}, x_n))^s]^{\frac{1}{s}}).$$
(2.4)

Let, if possible suppose that $d(x_n, x_{n+1}) \ge d(x_{n-1}, x_n)$, then equation (2.4) becomes

$$\psi(d(x_n, x_{n+1})) \leq \psi(d(x_n, x_{n+1})) - \phi(d(x_n, x_{n+1})), \\ < \psi(d(x_n, x_{n+1})).$$

a contradiction.

So,

$$d(x_n, x_{n+1}) < d(x_{n-1}, x_n) \tag{2.5}$$

It follows that sequence $d(x_n, x_{n+1})$ is monotonically decreasing and is bounded below by 0. So, the sequence $d(x_n, x_{n+1})$ converges to some $r \ge 0$, that is

$$d(x_n, x_{n+1}) \to r \ as \ n \to \infty. \tag{2.6}$$

Making $n \to \infty$ in equation (2.4), we get $\psi(r) \le \psi(r) - \phi(r)$, which holds only when r = 0 as ψ is a non decreasing function.

$$d(x_n, x_{n+1}) \to 0 \text{ as } n \to \infty.$$
(2.7)

Next, we shall show that $\{x_n\}$ is a Cauchy sequence.

If possible, suppose that $\{x_n\}$ is not a Cauchy sequence. Then there exist $\epsilon > 0$ for which we can find two subsequences $\{x_{m(k)}\}$ and $\{x_{n(k)}\}$ of $\{x_n\}$ with n(k) > m(k) > k, such that

$$d(x_{m(k)}, x_{n(k)}) \ge \epsilon. \tag{2.8}$$

Further for m(k) we can choose n(k) in such a way that it is the smallest integer with n(k) > m(k) and satisfying (2.8). Then

$$d(x_{m(k)}, x_{n(k)-1}) < \epsilon.$$

$$(2.9)$$

Then using triangle inequality, equations (2.8) and (2.9), we have

$$\begin{aligned}
\epsilon &\leq d(x_{m(k)}, x_{n(k)}) \\
&\leq d(x_{m(k)}, x_{n(k)-1}) + d(x_{n(k)-1}, x_{n(k)}) \\
&\leq \epsilon + d(x_{n(k)-1}, x_{n(k)}).
\end{aligned}$$
(2.10)

Making $k \to \infty$ and using equation (2.7) in (2.10), we get

$$\lim_{k \to \infty} d(x_{m(k)}, x_{n(k)}) = \epsilon.$$
(2.11)

Again

$$d(x_{m(k)}, x_{n(k)}) \leq d(x_{m(k)}, x_{m(k)-1}) + d(x_{m(k)-1}, x_{n(k)-1}) + d(x_{n(k)-1}, x_{n(k)}).$$
(2.12)

$$d(x_{m(k)-1}, x_{n(k)-1}) \leq d(x_{m(k)-1}, x_{m(k)}) + d(x_{m(k)}, x_{n(k)}) + d(x_{n(k)}, x_{n(k)-1}).$$
(2.13)

Taking $k \to \infty$ and using equations (2.7), (2.11) in equations (2.12) and (2.13), we get

$$\lim_{k \to \infty} d(x_{m(k)-1}, x_{n(k)-1}) = \epsilon.$$
(2.14)

Putting $x = x_{m(k)-1}, y = x_{n(k)-1}$, in the equation (2.1), we get

$$\psi(d(Tx_{m(k)-1}, Tx_{n(k)-1})) \le \psi(\mathfrak{J}_s^T(x_{m(k)-1}, x_{n(k)-1})) - \phi(\mathfrak{J}_s^T(x_{m(k)-1}, x_{n(k)-1})),$$
(2.15)

where

$$\mathfrak{J}_{s}^{T}(x_{m(k)-1}, x_{n(k)-1}) = \left[\alpha_{1}\left(\frac{d(x_{m(k)-1}, Tx_{m(k)-1})d(x_{n(k)-1}, Tx_{n(k)-1})}{d(x_{m(k)-1}, x_{n(k)-1})}\right)^{s} + \alpha_{2}\left(d(x_{m(k)-1}, x_{n(k)-1})\right)^{s}\right]^{\frac{1}{s}}$$
(2.16)

Taking $k \to \infty$ and using (2.7), (2.11) and (2.16) in (2.15), we get

$$\psi(\epsilon) \le \psi(\alpha_2^{\frac{1}{s}}\epsilon) - \phi(\alpha_2^{\frac{1}{s}}\epsilon).$$
(2.17)

Subcase (i): When $\alpha_2 = 0$.

From equation (2.17), we have $\psi(\epsilon) \leq 0$, but ψ is a non-negative function, so $\psi(\epsilon) = 0$ and this holds only when $\epsilon = 0$.

Subcase (ii): When $\alpha_2 = 1$.

From equation (2.17), we have $\psi(\epsilon) \leq \psi(\epsilon) - \phi(\epsilon)$, but ψ is non-decreasing function, so this holds only when $\epsilon = 0$.

Subcase (iii): When $0 < \alpha_2 < 1$.

Clearly, $\epsilon > \alpha_2^{\frac{1}{s}} \epsilon$, so equation (2.17) implies that $\psi(\epsilon) \le \psi(\alpha_2^{\frac{1}{s}} \epsilon)$ but as ψ is non-decreasing function, so this holds only when $\epsilon = 0$.

From all the above discussed three subcases it is clear that $\epsilon = 0$, a contradiction to our assumption. So, $\{x_n\}$ is a Cauchy sequence. Now as (X, d) is a complete metric space so $\{x_n\}$ is a convergent sequence in X. Let $\{x_n\}$ converges to x. Since T is a continuous map, it follows that

$$d(x,Tx) = \lim_{n \to \infty} d(x_n,Tx_n) = \lim_{n \to \infty} d(x_n,x_{n+1}) = 0$$

which shows that x is a fixed point of T.

Uniqueness:

If possible, let us suppose that x_1 and x_2 are two distinct fixed points of T, that is $Tx_1 = x_1$ and $Tx_2 = x_2$.

Now, putting $x = x_1$ and $x = x_2$ in the equation (2.1), we have

$$\psi(d(Tx_1, Tx_2)) \le \psi(\mathfrak{J}_s^T(x_1, x_2)) - \phi(\mathfrak{J}_s^T(x_1, x_2))$$
(2.18)

where

$$\begin{aligned} \mathfrak{J}_s^T(x_1, x_2) &= & [\alpha_1(\frac{d(x_1, Tx_1)d(x_2, Tx_2)}{d(x_1, x_2)})^s + \alpha_2(d(x_1, x_2))^s]^{\frac{1}{s}}, \\ &= & (\alpha_2)^{\frac{1}{s}}d(x_1, x_2). \end{aligned}$$

From equation (2.18), we obtain that

$$\psi(d(x_1, x_2)) \le \psi((\alpha_2)^{\frac{1}{s}} d(x_1, x_2)) - \phi((\alpha_2)^{\frac{1}{s}} d(x_1, x_2)),$$

Now using the same argument as above after equation (2.14), we get $d(x_1, x_2) = 0 \Rightarrow x_1 = x_2$, a contradiction. So T has a unique fixed point.

Case (ii). When s = 0. Putting $x = x_{n-1}$ and $y = Tx_{n-1}$ in the equation (2.1), we get

$$\psi(d(Tx_{n-1}, Tx_n)) \leq \psi(\mathfrak{J}_s^T(x_{n-1}, x_n)) - \phi(\mathfrak{J}_s^T(x_{n-1}, x_n)), \\ < \psi(\mathfrak{J}_s^T(x_{n-1}, x_n)).$$
(2.19)

where

$$\mathfrak{J}_s^T(x_{n-1}, x_n) = (d(x_{n-1}, x_n))^{\alpha_1} (d(x_n, x_{n+1}))^{\alpha_2}.$$

Using this in equation (2.19), we get

$$\psi(d(x_n, x_{n+1})) < \psi((d(x_{n-1}, x_n))^{\alpha_1} (d(x_n, x_{n+1}))^{\alpha_2}),$$

Using non-decreasing property of ψ , this implies that

$$d(x_n, x_{n+1}) < (d(x_{n-1}, x_n))^{\alpha_1} (d(x_n, x_{n+1}))^{\alpha_2}$$

which becomes

$$d(x_n, x_{n+1}) < d(x_{n-1}, x_n),$$

as $\alpha_1 + \alpha_2 = 1$.

So, $\{d(x_n, x_{n+1})\}$ is a monotonically decreasing sequence. Now repeating the same process as after equation (2.5) we can easily prove that sequence $\{x_n\}$ is a Cauchy sequence and hence convergent. Let us consider the sequence $\{x_n\}$ converges to x. Now using the continuity of T we can show that x is the unique fixed point of T.

Example 2.3. Let X = [0,1] and the distance function is d(x,y) = |x - y|. Clearly (X,d) is a complete metric space. Define $T: X \to X$ as $Tx = \frac{x}{8}$. Taking $\alpha_1 = \frac{3}{4}$, $\alpha_2 = \frac{1}{4}$ and s = 2. Define $\psi(t) = 2t$ and $\phi(t) = t$. Now evaluating left hand side of equation (2.1)

$$\psi(d(Tx, Ty)) = \frac{|x-y|}{4}.$$
(2.20)

Now for right hand side of equation (2.1), we evaluate value of $\mathfrak{J}_s^T(x,y)$

$$\mathfrak{J}_{s}^{T}(x,y) = \left[\frac{\left(\frac{7}{8}\right)^{4}(xy)^{2} + 3(x-y)^{4}}{4(x-y)^{2}}\right]^{\frac{1}{2}}$$
(2.21)

Using equations (2.20), (2.21) and value of ψ and ϕ in equation (2.1), we obtain that

$$2(\frac{|x-y|}{4}) \leq \left[\frac{(\frac{7}{8})^4(xy)^2 + 3(x-y)^4}{4(x-y)^2}\right]^{\frac{1}{2}}$$
$$\frac{(x-y)^2}{4} \leq \left(\frac{(\frac{7}{8})^4(xy)^2 + 3(x-y)^4}{4(x-y)^2}\right),$$
$$(x-y)^4 \leq \left(\frac{7}{8}\right)^4(xy)^2 + 3(x-y)^4.$$

which is true. So, all the conditions of Theorem 2.2 are satisfied. Clearly, 0 is the unique fixed point T. Hence Theorem 2.2 is verified.

References

- 1. Abbas M., Beg I., Coincidence point and invariant approximation for mapping satisfying generalized weak contractive condition, Fixed Point Theory and Applications, 2006, 1-7, (2006).
- 2. Alber Y.I., Guerre-Delabriere S., Principle of weakly contractive maps in Hilbert spaces, New results in Operator Theory and its Applications, 7-22, (1997).
- 3. Banach S., Sur les operations dans les ensembles abstraits et leur application aux equations integrals, Fundamenta Mathematicae 3, 133-181,(1922).
- 4. Boyd D. W., Wong J. S. W., On nonlinear contractions, Proc. Amer. Math. Soc. 20, 458-464,(1969).
- 5. Choudhury B.S., Das K., A new contraction principle in Menger spaces, Acta Mathematica Sinica, 8, 1379-1386, (2008).
- 6. Dutta P.N., Choudhury B.S., A generalisation of contraction principle in metric spaces, Fixed Point Theory and Applications, 2008, 1-8, (2008).
- 7. Jaggi D.S., Some unique fixed point theorems, Indian J. Pure Appl. Math., 2, 223-230, (1977).
- 8. Karapınar E, Fulga A., A hybrid contraction that involves Jaggi type, Symmetry, 5, 715, (2019).
- 9. Liouville J., Second mémoire sur le développement des fonctions ou parties de fonctions en séries dont divers termes sont assujettis à satisfaire a une m eme équation différentielle du second ordre contenant un paramétre variable, J. Math. Pure Appl., 2, 16–35, (1837).
- 10. Meir A., Keeler E., A theorem on contraction mappings, J. Math. Anal. Appl., 28, 326-329, (1969).
- Picard E., Memoire sur la theorie des equations aux derivees partielles et la methode des approximations successives, J. Math. Pures Appl., 6, 145–210, (1890).
- Rhoades B.E., Park S., Moon K.B., On generalizations of the Meir-Keeler type contraction maps, Journal of Mathematical Analysis and Applications, 14, 482-494, (1990).
- Rhoades B.E., Some theorem on weakly contractive maps, Nonlinear Analysis: Theory, Methods and Applications, 31, 71-81, (2001).
- 14. Zhang Q., Song Y., Fixed point theory for generalized φ -weak contractions, Applied Mathematics Letters, 1, 75-78, (2009).

Pankaj, Manoj Kumar (Corresponding Author), Department of Mathematics, Baba Mastnath University, Asthal Bohar, Rohtak-124021, Haryana India. E-mail address: manojantil180gmail.com E-mail address: maypankajkumar0gmail.com